Gymnasium Pegnitz
Wiederholung JS 6 1. Juli 2007

Addition und Subtraktion in Q (Ldsungen)

1 (a) 5% (b) —5£ (©) 7% (d) —6%
2 (a) 1050 (b) 2715 (0) 5 (d)5y (o) 2 (§) 1%
3. (a) 62 (b) —12 (©) 7% (d) 21

5 (ot 1Y _ Y (1) =
4. (a) 2 Losungen: <+22> + <+12> = +4, <+22> ( 12> =+4

(b) 1 Losung: (+1) + (—2%) = _1%
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2 L : — — — = —0— — —0O— — —H—
(c) osungen <+3> <+63> 63, <+3> + < 63> 63

(d) keine richtige Losung moglich!

(e) 2 Losungen: <—%> - <+3§> = —41, (—%) + <—3§> = _4é

(f) keine richtige Losung moglich!
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(g) 2 Losungen: < 24> + <+32> = +14, < 24) < 32> = +14

(h) 1 Losung: <_3§> (45) = _82

(=)

4
5. (a) 12,54+ 46,46 — 352,57 = 59 — 352,57 = —293,57

(b) 325,543 — 34,543 + 6,005 — 53,505 = 291 — 47,5 = 243,5
(c) 32,543 + 32,457 — 2,146 — 100,354 = 65 — 102,5 = —37,5

6. (a) —462,811

(b) —16,418

(c) —9,475
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5 5 35 _
8. 1_8+ﬁ 5 0,4861

1

9. (a) —— = —0,0625
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